

Order Date: 5/9/2023

Internal Tracking No.: 23-0003708 / 42153

Contractor Info

WorkQuest, Inc. 17419760511 1011 East 53 1/2 Street Austin, TX 78751

(512) 451-8145

Bill To

101 EAST 15TH ST., RM 446 Accts Payable: APPO@twc.state.tx.us AUSTIN TX 78778 Ship To

Items to be shipped to multiple addresses. See shipping details below for each line item.

NOTE TO CONTRACTOR:

REVISION HISTORY:

PO Revision #: 1

PO Change Reasons (Aggregated):5/10/2023 3:06 pm-Shipping Address Changed for item: 64075511044

Disclaimer

The State of Texas is exempt from all Federal Excise Taxes except as noted in each contract. STATE AND CITY SALES TAX EXEMPTION CERTIFICATE:

The undersigned claims an exemption from taxes under Texas Tax Code, Section 151.309(4), for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas, or a Texas County, City, Special District, or Other Political Subdivision.

Bobby Pounds

Texas Comptroller of Public Accounts - Statewide Procurement Division

Agency/CO-OP Member	Purchaser	Email	Phone
Texas Workforce Commission - 320	Kelly Hall	kelly.hall@twc.texas.gov	(737) 667-5150

Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Amount
1	45006	45006100100	Rayovac Ultra Pro ALAA-24 24/pack 1.35lbs/pack; 288 batteries / Case.Plus Freight Order Less Than \$25 Contract: 615-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn: Antonio Blanch 101 E 15th St RM 470 Austin TX 78778 MPN: ALAA-24 Manufacturer Name: Rayovac	97	PACK	8.70	\$843.90



Order Date: 5/9/2023

Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Amount
2	45006	45006100103	Rayovac High Energy 824-12k; AAA Batteries;12/pack .32lbs/pack.144 batteries/CS. Freight Included. Contract: 615-S1 Contract Type: Term Delivery ARO (days): 5 Delivery Date: 5/15/2023 Ship to Address: Texas Workforce Commission Attn: Antonio Blanch 101 E 15th St RM 470 Austin TX 78778 MPN: 824-12K Manufacturer Name: Rayovac	32	CASE	42.86	\$1,371.52
3	20772	20772501407	Labels, Return Address 1/2" X 1 3/4" White, 80/Sheet, 100 Sheet/Box, Freight Included, Quantity Price break at 2 Boxes Contract: 207-S2 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn: Antonio Blanch 101 E 15th ST RM 470 Austin TX 78778 MPN: 20772501407 Manufacturer Name: WorkQuest, Inc.	129	BOX	22.28	\$2,874.12
4	62080	62080230105	Pen, Gel Ink, 0.7mm, Retractable, Rubber Grip, Zebra Sarasa, 4 Pens/Pack, Plus Freight Order Less Than \$25 Attribute 1: Blue-62080230204 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 15th St RM 470 Austin TX 78778	400	PACK	6.08	\$2,432.00



Order Date: 5/9/2023

Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Amount
5	62080	62080230105	Pen, Gel Ink, 0.7mm, Retractable, Rubber Grip, Zebra Sarasa, 4 Pens/Pack, Plus Freight Order Less Than \$25 Attribute 1: Black-62080230105 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778	400	PACK	6.08	\$2,432.00
6	62080	62080230105	Pen, Gel Ink, 0.7mm, Retractable, Rubber Grip, Zebra Sarasa, 4 Pens/Pack, Plus Freight Order Less Than \$25 Attribute 1: Red-62080230303 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778	100	PACK	6.08	\$608.00
7	34574	34574520003	Disposable Face Mask 50/BX;Freight included Contract: 345-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778 MPN: MM005 Manufacturer Name: Magid	43	BOX	18.95	\$814.85



Order Date: 5/9/2023

Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Amount
8	62080	62080051006	Pen, Ballpoint, With Cap, Soft Grip, Medium Point, Plus Freight Order Less Than \$25 A t t r i b u t e 1: B l u e Medium-62080051006 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778	400	DOZ	7.63	\$3,052.00
9	62080	62080051006	Pen, Ballpoint, With Cap, Soft Grip, Medium Point, Plus Freight Order Less Than \$25 Attribute 1: Black Medium-62080052004 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th ST RM 470 Austin TX 78778	400	DOZ	7.63	\$3,052.00
10	62080	62080051006	Pen, Ballpoint, With Cap, Soft Grip, Medium Point, Plus Freight Order Less Than \$25 Attribute 1: Red Medium-62080053002 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778	100	DOZ	7.63	\$763.00



Order Date: 5/9/2023

Line	NIGP	Commodity	No.	OTV	LIOM	Unit	Extended
#	Code	Code/ Supplier Part #	Item	QTY	UOM	Price	Amount
11	48613	48613502	Hand Sanitizer, Instant, Purell, Green Seal Certified, 12 Oz. Pump Bottle, 12/CS, Freight included. Contract: 486-S1 Contract Type: Term Delivery ARO (days): 18 Delivery Date: 5/29/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778	7	CASE	66.44	\$465.08
12	62090	62090381021	Highlighters, Retractable, Assorted Color, 10/Pkg, Plus Freight Order Less Than \$25 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn: Antonio Blanch 101 E 15th St RM 470 Austin TX 78778	64	PKG	10.45	\$668.80
13	62090	62090383509	Highlighter, Chisel Tip, Yellow, 100% Recycled, 12 Ea/Box, Plus Freight Order Less Than \$25 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn: Antonio Blanch 101 E 15th ST RM 470 Austin TX 78778	65	DOZ	9.50	\$617.50



Order Date: 5/9/2023

Line #	NIGP Code	Commodity Code/ Supplier Part #	ltem	QTY	UOM	Unit Price	Extended Amount
14	62060	62060182003	Lead Refill, 0.7mm. 12 Leads/Tube, 12 Tubes/Box, Plus Freight Order Less Than \$25 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 30 Delivery Date: 6/8/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th st RM 470 Austin TX 78778	4	вох	11.11	\$44.44
15	62060	62060181005	Lead Refill, 0.5mm. 12 Leads/Tube, 12 Tubes/Box, Plus Freight Order Less Than \$25 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 30 Delivery Date: 6/8/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778	4	BOX	8.64	\$34.56
16	62060	62060291002	Pencil, Mechanical, 0.5mm, Rubberized Opaque Case, Plus Freight Order Less Than \$25 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn: Antonio Blanch 101 E 15th ST RM 470 Austin TX 78778	7	DOZ	18.46	\$129.22



Order Date: 5/9/2023

Line #	NIGP Code	Commodity Code/ Supplier Part #	ltem	QTY	UOM	Unit Price	Extended Amount
17	62090	62090771056	Marker, Permanent, Chisel Tip, Retractable, 4 Each/Pkg, Black, Blue, Green, Red, Plus Freight Order Less Than \$25 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778	52	PKG	4.80	\$249.60
18	62090	62090220989	Marker, Permanent, Fine Tip, Plus Freight Order Less Than \$25 Attribute 1: Black-62090220989 Contract: 620-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778	77	DOZ	7.88	\$606.76
19	61562	61562384315	Self Stick Note Pad, 3" x 5", Yellow, 100 Sheets/Pad, 12 Pads/Pkg, Plus Freight Order Less Than \$25 Contract: 615-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778	250	PKG	11.92	\$2,980.00



Order Date: 5/9/2023

Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Amount
20	61562	61562385601	Self Stick Note Pad, 4" x 6", Neon, Lined,100 Sheets/Pad, 6 Pads/Pk, Plus Freight Order Less Than \$25 Contract: 615-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15th St RM 470 Austin TX 78778 Manufacturer Name: 3M	250	PACK	10.25	\$2,562.50
21	83220	83220112	Tape, Transparent, Refill, 3/4" x 1000", Core 1", Multi-Purpose, 6/ Pack, Freight Order Less Than \$50 Contract: 832-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15Th St RM 470 Austin TX 78778	30	PKG	6.56	\$196.80
22	64075	64075511044	Toilet Tissue, Jumbo Roll 2-Ply, Recycled, 3.5"x2000 Ft, 12" Diameter, 6 Rolls/Case, Freight Included. Qty. Price Break at 30. Contract: 640-S1 Contract Type: Term Delivery ARO (days): 14 Delivery Date: 5/23/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 4405 Springdale Road Auites ABC Austin TX 78723 MPN: 64075511044 Manufacturer Name: WorkQuest, Inc.	187	CASE	40.65	\$7,601.55



Order Date: 5/9/2023

Internal Tracking No.: 23-0003708 / 42153

Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Amount
23	64521	64521350104-1	Paper, Bond, Virgin, Premium No. 4, 20 Lb., 8-1/2" X 11" Contract: 645-S1 Contract Type: Term Delivery ARO (days): 20 Delivery Date: 5/29/2023 Ship to Address: Texas Workforce Commission Attn Antonio Blanch 101 E 15Th St RM 470 Austin TX 78778 Manufacturer Name: Skilcraft	80	CRTN	48.89	\$3,911.20

Total \$38,311.40